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Question 1: (30 points)

Choose the correct answer, write your answer in the table below:

1. The value of the expression 8x + y when x =2, y = 3is equal to:

a) 26 b) 48 419 d) 16

2. The translation of *“ Four multiplied by some number” is:

4 _
a) n+4 by = & 4n a5 =
n -

3. The slope of the line y = -3x+2 is:
a) 2 b) 3 g) =2 &) -3

4. One of the following ordered pair is a solution of the equation 2x — y =4:

a) (1,2) b) (2.1) A (3.2) d) (2.3)



S. The Linear function whose graph has the slope -3 and y—intercept (0, 2), is:

a) f(x)=-3x-2 ,b)/f(x)=-3x+2 ¢) f(x)=3x-2 d) f(x)=3x+2

6. The factorization of x° + x> +2x+2 is:

P
A (x+1)(x"+2) b) (x+1)(x* +2) ¢) (x* +1)(x+2) d) (x+2)(x* +1)

7. The point (2,-3) is located in quadrant:

2) | by II ¢) 111 a{w

8. The scientific notation of the number 0.000723 is:

;/7.23 x107 b) 7.23x 10° ¢) 723x 107 d) 723 %107



9. The set of numbers for which the rational expression

is not defined 1s:

(x+1)(x=3)
a) {1,3) by {-1,3) ) {1,-3} d) {-1,-3}
]0. The result of a* -a’ is:
a) | b) a" / a’ d) a

11. The x - intercepts of the equation 2y -3x =6 is:

2) (3.0) b) (2.0) o) (-3,0)

12. 40% of 20 is:

4{8 b) 4 ¢c) 6

d) 12




1S:

13. The domain of the function f (x)=

x —2
jl'{{x | x is areal number and x # 2} b) {x | x is areal number and x = —2}
c) {x | x is a real number and x # O} d) {x | x is a real number and x > 2}

14. The value of f(x)=x>—-3x+1 when x=2 is:

a) —2 b) 0 c) 1 9(—1

ot e 4x* —6x? .
15. The result of the division et iS:
X
a) 4x* —6x> b) 2x* —3x2 c) 4x?—6x & 2x2 _3x

16. The factorization of 25x % —9 is:

a) (5x +9)(5x —9) b%Sx +3)(5x —3) c) (5x —9)° d) (5x —3)*



17. Which of the following correspondences is not function:

a) b)

Domain Range Domain Range

2

> O

3
4/ W

I B =
Lt o

Domain Range Domain Range

g._ I 1 0 = 1
.d"’
o > 2 5/
18. The subtraction (3:.-:2 —x+3)—(3¢:1 —x——l) is equal:
a) 2x+2 b) 4x2 —2x +2 c) 4x?42x +2 A{2x2+4
19. The result of (Sx *y }2 is =
a) 25x )2 ¥ 25x°y° c) 5x3y? dy S %y ?

20. The result of (x -+ 3}2 is =

a) x*+9 b) x?+3x +6 c) x24+3x +9 ‘d{x2+6x+9




Question 2: ( 4 points)
Perform and Simplify the following:

L (F-3r42)2r-) bW o=
;1 K,x*3
PP - ER +






Question 3: (4 points)

Solve the following equations:

1 |2x-3=7
ix~-y = L ol xX-3% K o
ix = @ LXK e =Y

K:)r" )( .:_"'7-—-

x:?"z/’j






Question 4: (4 points)

Solve the following inequalities:

1. 5x—7<3x+5






Question 5: (8 points)

1. Graph the equation: y =2x -1 and find the x—intercept and y—intercept.
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2. Solve the following system of equations:

2x—-5y=9
—-x+2y=—4
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